

طراحی معادلات - یادهم بستر - تلفیق

$$\sqrt{\frac{x-1}{x} + \frac{-x}{x-1}} \rightarrow \frac{x-1}{x} + \frac{-x}{x-1} \geq 0 \rightarrow \frac{-x^2+1}{x^2-x} \geq 0$$

$$\frac{x^2-1}{x(x-1)} \leq 0$$

0	1
-	+
0	0
+	-
0	0

$$Df = (-\infty, 0) \cup \left[\frac{1}{x}, 1\right)$$

$$\frac{1}{x+1} - \frac{2}{x} \rightarrow \frac{2}{x-1} + \frac{1}{x+2} \neq 0$$

$$\frac{2}{x-1} + \frac{1}{x+2} \rightarrow \frac{2x+4+x-1}{x^2+x-2} = \frac{3x+3}{x^2+x-2} \neq 0 \rightarrow x \neq \frac{-3}{3}$$

$$\Rightarrow Df = \mathbb{R} - \left\{-2, -1, \frac{-3}{3}, 0, 1\right\}$$

$$\sqrt{\left(\left(\frac{1}{x}\right)^x - 9\right)(2x - x^x)} \rightarrow \left(\left(\frac{1}{x}\right)^x - 9\right)(2x - x^x) \geq 0 \rightarrow \frac{\infty}{x}, -2$$

	-2	2/∞
$\left(\frac{1}{x}\right)^x - 9$	+	-
$2x - x^x$	+	-
	+	-
	+	+

$$\rightarrow Df = (-\infty, -2] \cup \left[\frac{2}{x}, +\infty\right)$$

$$\sqrt{x-1} + \sqrt{y+1} = 2 \rightarrow \sqrt{y+1} = 2 - \sqrt{x-1}$$

$$x-1 \geq 0 \rightarrow x \geq 1$$

$$2 - \sqrt{x-1} \geq 0 \rightarrow x-1 \leq 1 \rightarrow x \leq 2$$

$$Df = [1, 2]$$

$$f(x) = \frac{\log(x^x - x - 2)}{\sqrt{x^2-1} + 1}$$

$$\text{I} \rightarrow x^x - x - 2 > 0 \rightarrow (x-2)(x+1) > 0$$

-1	2
+	-
+	+

$$\rightarrow (-\infty, -1) \cup (2, +\infty)$$

$$\text{In II} \cap \text{III} = (-\infty, -1) \cup (2, +\infty)$$

Parsian $\text{II} - x^x - 1 \geq 0 \rightarrow x^x \geq 1 \rightarrow (-\infty, -1] \cup [1, +\infty)$

III $\sqrt{x^2-1} + 1 \neq 0 \rightarrow \sqrt{x^2-1} \neq -1 \rightarrow \mathbb{R}$

$$y = \sqrt{r+ax-x^r} \rightarrow -x^r+ax+r \geq 0 \xrightarrow{x=r} -r-ra+r=0 \rightarrow -1=ra \rightarrow \frac{-1}{r}=a$$

$$a = \frac{-1}{r} \rightarrow -x^r - \frac{1}{r}x + r \rightarrow x=r \rightarrow y=0$$

$$Df = [-r, r] \rightarrow b=r, a = \frac{-1}{r} \rightarrow a+b = \frac{r}{r}$$

$$f(x) \begin{cases} rx-r & x \geq 1 \\ rx+r & x < 1 \end{cases}, \sqrt{f(x)-x} \rightarrow x \geq 1 \rightarrow rx-r-x = rx-r \geq 0$$

$$rx \geq r$$

$$x \geq 1 \rightarrow I$$

$$\rightarrow x < 1 \rightarrow rx+r-x = x+r \geq 0$$

$$x \geq -r \rightarrow II$$

$$Df = In I \rightarrow x \geq 1 = [r, +\infty)$$

$$f(x) \begin{cases} (a+1)(x+r) & x > 1 \\ ra+rx & x \leq 1 \end{cases} \rightarrow rf(a) = f(-r)+a$$

$$r(va+v) = ra - \varepsilon + a = fa - \varepsilon$$

$$1\varepsilon a + 1\varepsilon = fa - \varepsilon$$

$$1 \cdot a = -1\varepsilon \rightarrow a = \frac{-1\varepsilon}{1} = \frac{-\varepsilon}{1}$$

$$f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + r = f(x) = \sqrt{x + \frac{1}{x}} + r + r = (r + \sqrt{x})(r - \sqrt{x}) = 1$$

$$\text{تابع متناظر} \rightarrow f(r + \sqrt{x}) + f(r - \sqrt{x}) = rf(r + \sqrt{x})$$

$$f(r + \sqrt{x}) = \sqrt{r + \sqrt{x}} + \frac{1}{\sqrt{r + \sqrt{x}}} + r + r = r + \sqrt{x}$$

$$rf(r + \sqrt{x}) = r(r + \sqrt{x}) = r + r\sqrt{x}$$

$$\left. \begin{aligned} rf(x) - r^2 f(-x) &= rx^r - x \\ rf(-x) - r^2 f(x) &= rx^r + x \end{aligned} \right\} \begin{aligned} rf(x) - 4f(-x) &= 12x^r - 2x \\ 4f(-x) - 9f(x) &= 12x^r + 3x \end{aligned} \right\} \begin{aligned} -2f(x) &= rx^r + x \\ -2f(x) &= rx^r + x \end{aligned}$$

$$\Rightarrow f(x) = -rx^r - \frac{1}{2}x$$

$$(x+r)f(x) - r^2 x f(x+r) = rx^r - mx + r^2 m - 1$$

$$\left. \begin{aligned} x=0 &\rightarrow rf(0) = r^2 m - 1 \xrightarrow{x^r} 4f(0) = 9m - r \\ x=-r &\rightarrow 4f(0) = 14 + rm + r^2 m - 1 = 2m + 12 \end{aligned} \right\} \begin{aligned} r^2 m &= 12 \\ m &= 4/3 \end{aligned}$$

$$4f(0) = 22/3 + 12 = 34/3 \rightarrow f(0) = 4/3 = \frac{r^2}{r}$$

$$f(x) + f\left(\frac{1}{x}\right) = \frac{rx^r - 12x + r}{x}$$

$$x=-1 \rightarrow f(-1) + f(-1) = rf(-1) = \frac{r+12+r}{-1} = -12 \rightarrow f(-1) = -6$$